70 120
21 | 49 [100| 14 | 25 | 60 | 1 60 100
22 | 49 | 72 20 | 41 | 2 S0 = 80
23 | 56 | 61 27 | 28 | 1 gg B 60
24 | 64 | 83 30 | 46 | O 20 — 40
25 |60 | 73|10 |36 | 26| 1 0= 20
0 0
21 |100| 41 | 9 5 2 | 10 1
22 | 72 | 15 | 10 0 1
23 | 61| 24| 10| 10| 1 1
24 | 83|33 |14 | 5 (o} 1
25 | 73| 25| 10 | 12 | 2 1
389|138| 53 | 37 | 5 | 19 5
10 20 (30 |40 |50 |60 |70
21 |100| 2 19 | 10 | 16 | 42 (o}
22 | 72| B 4 16 | 25 o
23 | 61| O 10 8 | 23 (o}
24 | 83| 2 [ 18| 8 13 | 22 | 10 [N
25 | 73| 3 | 10|20 |21 | 15 | a7 | 7 (o}
389 12 | 47 | 51 | 44 | 68 | 129 | 37 [N
21 1,694 49 14 28.6%
22 1,783 49 7 14.3%
23 2,094 56 14 25.0%
24 2,910 64 21 32.8%
25 3,338 60 17 28.3%




